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SNAP 2006
Quantitative Aptitude

I. Milk and water in two vessels A and B are in the ratio 4 : 3 and 2 : 3 respectively. In what ratio the
liquids in both the plate vessels should be mixed to obtain a new mixture in vessel C, only five
maintaining half milk and half water?

A I

B 7S
c 24
D I3

Answer:

Explanation:
The fraction of milk in A = 4/(4+3) = 4/7

The fraction of milk in B = 2/(2+3) = 2/5

Let them be mixed in the ratio x:y such that their fraction is 1/2
It can be written as

4x 2y x+y

7 +5= 2

Upon solving,

I x Yy 2y

7-2=2-5
X y
14 =10
x 7
y=s5s

Required ratio is 7:5

2. A picture was bought at a certain sum, which was the price paid for its frame. Had the frame cost Rs
100 less and the picture Rs 75 more the price for the frame would have been only half of that of the
picture. What is the price of the frame?

A TS
B 00
c 175
D 279

Answer: D

Explanation:
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Let the cost of Picture be Rs X. Then the cost of frame is also Rs X.

X+75
As per question 2 =2 (X -100)

X+75=2X-200
X =275

3. What is the closest time between 7 and 8 when the hands of your watch are exactly
opposite each other?

A 7 ER =S MIN
B 7ER-=39.5 M
C 7R =06 MmN

D 7kR-=6.S MinN
Answer:

Explanation: ;
At7 the hour handis 12 - 360 =210 degrees ahead of the minute hand.

Let after x minutes they are at 180 degrees with each other (since they are exact opposite)
Total angle covered by hour hand =210 + 0.5x ( as hour hand moves at 0.5 degrees/minute)
Total angle covered by minute hand = 6x ( speed of minute hand is 6 degrees/minute)
As per the question
Angle by hour hand - Angle by minute hand = 180
(210 + 0.5x) - 6x = 180
210 - 5.5x = 180
5.5x =30
x = 5.45 minutes
The closest answer is 5.5 minutes

4. There are 6 tickets to the theater, four of which are for seats in the front row. 3 tickets are selected
at random. What is the probability that two of them are for the front row?

A 06

B 0.7

c 098
1

D 3

Answer: /8

Explanation:
Out of all the 6 tickets, 4 are front row tickets and the rest 2 are not.
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Out of 4 front tickets 2 can be selected in 4 C2

The remaining | ticket has to be selected in 2 C1

Hence total ways of selecting 3 tickets such that 2 of them are frontroware 4 (C 2 * 2 C1
3 out of 6 tickets can be selected in © C 3 ways.

Required probability = YC2%2C11%C3

Which is equal to 0.6

5. When 75% of a no. is added to 75, the result is the same number. The no. is

A IS0
B 300
c oo

D 43S0

Answer:

Explanation:
Let the number be x

As per question

75x
100 + 75 =x

3x
4 +75=x
X

4 =75

x = 4*75 =300
4 2
6. Any traveled 7t as many miles on foot as by water and 5 as many miles on horse back as by water.

If she covered a total of 3036 miles, how many miles did she travel in each manner: water,foot and
horseback?

A 1S40, &880, &6
B 66, 860, iS40
c 1840, GI6, 860
D BB60, 1540, 16

Answer: /8

Explanation:
Let x be the distance traveled by water

4x
Distance by footis 7
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2x
Distance by horseback is 5
4x 2x
Total distance = x + 7 + 5 =3036
Hence x = 1540
4x
7 =880
2x
5 =616

Option A is correct

7. A family has several children. Each boy in the family has as many sisters as brothers but each girl
has twice as many brothers as sisters. How many brothers and sisters are there?

A 3 BROTHERS, 4 SISTERS
B 4 BROTHERS, 4 SISTERS
C 4 BROTHERS, 3 SISTERS

D CaNNOT SAY

Answer: G
Explanation:
Let there be x boys and y girls in the family.
For each of the boys, number of brother = x-1 and number of sister =y
For each of the girls, number of brother = x and number of sisters = y-1
As per question,
x-1 =y (equation of brother and sister for boys)
x = 2(y-1) (equation of brother and sister for girls

On solving we get x =4 and y= 3, Hence option C

8. You are given 50 white marbles, 50 black marbles and two jars. You need to put 100 marbles in any
of these two jars. The jars will then be shaken and you will be asked to pick one marbles from either
jar. How would you distribute the marbles in two are to maximize the possibility of picking a white
marble blind folded?

A 28 WEITE AND 2S BLACK IN EACH.
B VW/EITE IN ONE AND S8 IN THE OTHER.

C SO WEITE IN ONE AND S0 BLAGK IN THE OTEER.

D ALL EUNDRIED N ONE,
Answer:
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Explanation:
The probability of picking the white is 0.5*%(Probability of white in Jarl) + 0.5%(Probability of white in Jar2)

To maximize the probability we can put | white marble in jar |. Hence the probability of white injar | = |
The remaining 49 white and 50 black can be put in Jar 2. Thus, the Probability of white in Jar 2 = 49/99.
All other options give less probability

9. The no. plate of a bus had peculiarity. The bus number was a perfect square. It was also a perfect
square when the plate was turned upside down. The bus company had only five hundred buses
numbered from 1 to 500. What can be the number?

A 169
B 36
c 185

D CANNOT SAY

Answer: /&
Explanation:
Since the bus has numbers from | to 500 and is a perfect square it has to be one of the numbers among
1,4,9,...484(2272)
When the plate is put upside down then also a number is obtained which is a perfect square.
It is possible when the digit on the plate contains only digits 0,1,6,8 and 9

Among the options, 169 (132)is a perfect square which upon putting upside down gives 96 1(312) which is
also a perfect square

10. If 5 spiders can catch five flies in five minutes. How many flies can hundred spiders catch in 100

minutes?
A 100
B {000
C SO0
D 2000

Answer: D

Explanation:
The rate at which spiders catch the flies remains the same. Hence multiplying the time frame and the

number of spiders relative to the information provided gives the solution.

Distributing 5 spiders as a group. There are 20 groups and each group catches 5 spiders in 5 minutes ad

hence 100 spiders are caught in 5 minutes and in 100 minutes.

100*(100)/5 = 2000 flies.
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(M1-D1) (M2-D2)

w1 = w2
(5-5) (100-100)
5 = wW?2
=> W= 2000

| 1. Recently my brother and | played chess form chocolates. Who ever lost the game gave the other a
chocolate. After the last game we counted the chocolates. | had 20 more chocolates than | started
with, although he won 7 games. There is no draw. How many games did we play?

A 27
B 34
c 37
D 54

Answer:

Explanation:
I have won X number of chess games and my brother has won 7 games.

For every game | win | get | chocolate and and | give | chocolate if my brother wins. Let A be number of

chocolates with me initially.

Then, A+X-7=A+20

X=27

Total games played = Games won by me + Games won by my brother = 27+7 = 34

2. Study the series carefuly'B84CRM9PDKWFA2EJ7XUQHLTYG6GS.Ifitis possible to
make a meaningful word with the ninth, the sixteenth, the twenty-fourth and the twenty-seventh
letters from the left in the above series, which of the following will be the first letter of the word? If
no such word can be made, give 'X' as an answer. If more than one such word can be made, give 'M'
as an answer.

A X
B M
c J
D Y

Answer: /2
Explanation:
Oth term =D
16t term =]

24th term = Y
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27t term = §

No meaningful word can be made from the terms hence X is the answer
I3. Thevalueis?

5* x (125)025

A S

B 25
c SO
D IO

Answer: /8

E)l(planation:
54 % 1250.25
— 50.25 * 53*0.25

— 50.25+0.75
=51
=5

4. Imagine you have two large pitchers, A and B. A contains 10 litres of wine and B contains 10 litres of
water. One litre of water is removed from B and poured into A. The liquid is mixed very well. Then
one litre of the mixture from A is poured into B. Which of the following statements is true?

A THE WATER CONTENTS IN /A IS MORE TE/AN TEHE VWINE CONTENTS IN
B TTHE WATER CONTENTS IN /A I8 LESS THAN THE WINE CONTENTS IN
C THE WATER CONTENTS IN /A IS SAME AS THIE W/INE CONTENTS IN

D NONEOF TEESE

Answer: C

Explanation:
Initially, A has 10 L wine and B has |0L water

Process | : When | L of water is poured from B to A
Anowhas I IL ( 10 L wine and IL water) and B has 9L water
Process 2: IL from Ais putinto B

IL of liquid from A will have the composition of 10/1 L Wine and I/l |L Water

100 10
Composition of A(IOL) = 11 L wine and 11 L water
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10 100
Composition of B(10L) = 11 L wineand 11 L water

I5. Anand, Binoy, Chetan and Dharma together have Rs 47 with them. Anand and Binoy together have Rs
27; Chetan and Anand have Rs 25 and Dharma and Anand have Rs 23. How much money does Binoy

have?
A 8
B il
c I3
D 26

Answer: ©

Explanation:
Let a,b,c and d represent the money with Anand, Binoy, Chetna and Dharma respectively.

It is given that a+b+c+d =47 ....(l)
atb=27....... ()
atc=25.... (1

Adding eqn (l),(lll) and (IV) and subtracting (I)
(atb)+(a+c)+(a+d) - (a+b+c+d) = (23+25+27-47)
2a=28ora= 14

fromeqn (Il)b=13

| 6. David gets on the elevator at the 11th floor of a building and rides up at the rate of 57 floors per
minute. At the same time Albert gets on an elevator at the 51 it floor of the same building and rides
down at the rate of 63 floors per minute. If they continue traveling at these rates, then at which floor
will their elevators meet?

A 18

B 30
c zB
D 37

Answer:

Explanation:
Let them meet at time "t"

Floor of David at timet = | | +57t

Floor of Albert at time t =51- 63t
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When they meet their floor will be same. | | +57t =51 - 63t

1
t = 3 minutes.

1
Floor at which they meet= |1 +57*3 =1 1+19 =30

7. The average of 5 consecutive numbers is n. If the next two numbers are also included the average
will
A REMAIN TEE SAMIE
B INCREASEBY I
C INCREASE BY .4}

D INGREASEBY 2
Answer:

Explanation:
(M)+(n+1)+(n+2)+(n+3)+(n+4)
Average of 5 consecutive number = 5 =n+2
(M) +(n+1)+(n+2)+(n+3)+(n+4) +(n+5)+(n+6)
If 2 more consecutive number are added then its average = 7 =
n+3

Hence average is increased by |

8. Which is the wrong term in the following sequence?
52, 51,48, 43,34,27,16

A 27
B 34
c 43
D 4B

Answer:

Explanation:
Here T(n) represent the nth term of series

T()-TQ) = |
TQ)-TB) =3
T(3)-T(4)=5

T(4)- T(5) = 9.. is incorrect since we notice that difference between consecutive terms are consecutive odd

numbers.

T(5) = 34 is incorrect
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19. Pis sixtimes as large as Q. By what per cent is Q less than P?

A 162/3%
B 6B0%
C B831/3%

D S0%

Answer: ©

Explanation:
Given P =6Q

Required answer is
P-Q
P x 100%

5Q
= 6Q x 100% (since P=6Q)

1
=833 %

20. When a heap of pebbles is grouped in 32, 40 or 72 it is left with remainders of 10,
18 or 50 respectively. What is the minimum number of pebbles that the heap contains?

A 146
B 4@
Cc 1402
D 420

Answer:

Explanation:
Family of numbers when divided by a,b,c and leaves remainders x,y,z respectively such that (a-x)=(b-y)=(c-

z)=v are of the form N = k *LCM ( a,b,c) - v
Therefore N = k*LCM(32,40,72) - 22 => N=1440k-22
Smallest such number is obtained when k=1 which is 1418

21. Each of the seriesS1=2+4+6+......... andS2=3+6+9+............ is continued
to 100 terms. Find how many terms are identical.

A 3
B 33

C 32
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D NONE 0F THESE

Answer:

Explanation:
The identical terms will be of the form k*LCM(d1,d2) +smallest common number .

Where dl , d2 are common differences in two series and smallest common term in two series = 6

So N=K*LCM (2,3) + 6

N= 6k+6 (where kisa whole number)

Since the last number in Ist series is 200 and last number in 2nd series is 300, it is sufficient to check
multiples of till 200

Therefore total number of multiples of 6 below 200 = 33

22. Ram Singh goes to Pushkar Mela with Rs 10000 to buy exactly 100 animals. He finds that cows are
sold at Rs 1000, horses at Rs 300 and chicken at Rs 50. How many chicken should be buy to meet
his target of 100 animals?

A 92
B 8
c SO
D

Answer:
Explanation:
Let x,y and z be the number of cows, horses and chickens respectively.
Since he has Rs 10,000.
1000x + 300y + 50z = 10,000...... (I)
X+y+z=100...(1
300*eqn(ll)- eqn(l) gives

250z - 700x = 20,000
20,000+700x

z = 250
20,000+700x
since Z is an integer then Remainder ( 250 ) =0
20,000+700x 200x
Remainder( 250 ) =Remainder( 250 )
200x

Remainder( 250 ) =0 is possible when x takes values 5,10, 15 and so on
When x =5, thenz=94andy = |
When x = 10 then y = 108 ( rejected as total number of animals has to be 100)

Thus he has to buy 94 chickens
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23. Fillin'+ or'-'sign in between these numbers so that they give the correct answer.

12333143=31

A ++=-
B +++=
C ==++
D ===+

Answer: ©

Explanation:
OptionA:1 + 23 + 33 -1 —-43=-29

OptionB: 1 + 23 + 33 +1 —43=-27
OptionC:1 — 23 — 33 +1 +43 =31
OptionD:1 — 23 — 33 -1 +43 =29

24. Symbiosis runs a Corporate Training Programme. At the end of running the first programme its total
takings were Rs 38950. There were more than 45 but less than 100 particulars. What was the
participant fee the programme?

A [sdio
B [s4S0O
C lis SO0
D [sSil0

Answer: /8

Explanation:
Total taking = number of participants * cost per participant

38950 = 2 x 52 x 19 x 41

95 is the only factor of 38950 which lies between 45 to 100.
Hence 95 is number of participants.

Cost per participant = 38950/95 = 410

25. Complete the series 1, 6, 6, 36, 216, .....

A TT7S

B 7776
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c 7777

D 7778
Answer:

Explanation:

T(n) be nth term

We see that T(n)= T(n-1) * T(n-2)
Hence next term is 36*216 = 7776

26. Three friends had a dinner at1 arestaurant. When the bill was received Amita paid
2
3 as much as

Veena paid and Veena paid 2 as much as Tanya paid. What fraction of the bill did Veena pay?

A
3
B 11
12
C 31
5
D g

Answer:

Explanation:
Let the amount Tanya paid be 6x

Amount paid by Veena is 3x

Then Amita paid by 2x

3x 3
Required fraction 6x+3x+2x = 11

27. 128 players start in the men's single at a tennis tournament, where this number
reduces to half on every succeeding round. How many matches are played totally in the event?

A B3
B 4@
c 27
D g4l

Answer: G

Explanation:
In Round | : 64 matches are played among 128 members

In Round 2: 32 matches are played among 64 members
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In Round 3 : 16 matches are played among 32 members

and so on till | match is played among final 2 Players.
Total matches = | +2+4+8+16+32+64 = 127

28. Acrew canrow 10 miles in 5/6th of an hour down-stream and 12 miles upstream
in 90 minutes. Find the current's rate and crew's rate in still water.

A 12 MPE, G MPH
B 0 MPE, 2 MPH
C MIPEL, 4} MPE

D 12 wpH, 2 MPE
Answer:

Explanation:
Let speed of crew="a' mph

Speed of current ='b' mph

Down stream ,the speeds will be added

Upstream,the speeds will be subtracted

10
atb = s

(12)
3
a-b= 2

Solving the above two equations , a=10 and b=2

29. If Swamy has two children and he truthfully answers yes to the question "Is at least one of your
children a girl?" what is the probability that both his children are girls?

1
A

1
B 3
c 1
D O

Answer: /8

Explanation:
(Number of favourable cases)
Probability = Total number of cases

Here the possible outcomes are GG or GB
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So probability of two girls = 1/2

1
30. Starting from his house one day, a student walks at a speed of 2 2 kmph and reaches his school 6

minutes late. Next day he increases his speed by 1 kmph and reaches his school 6 minutes early.
How far is the school from the house?

A 1xrM
1

B 12xv
3

C 1smm

D 2&RM

Answer: G

Explanation:

Assume the distance to be X km.
When he travels at the speed of 2.5 km/hr he is 6 minutes late.

When he travels at the speed of 3.5 km/hr he is 6 minutes early

X X 12
2.5-3.5= 60

2x 2x 1

5 — 7 =5

4x 1

35 = 5

7 3

X=4= 14km
31. What year comes next in the sequence 1973, 1979, 1987, 1993, 1997,1999............. ?
A 2001
B 2003
Cc 2009
D 2007

Answer:

Explanation:

The sequence is of prime numbers. 2003 is the next prime number

32. The numbers of students studying Physics, Chemistry and Zoology in a college were in the ratio 4 : 3
: 5respectively. If the number in these three disciplines increased by 50%, 25% and 10% respectively
in the next year, then what was the new respective ratio?

A 24:1S5:22
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p Il

C 24:13:17

D CANNGOT BE DETERMINED

Answer: /8

Explanation:
Let the number of student in Physics, Chemistry and Zoology be 4x, 3x and 5x respectively

50
New number of Physics student = 4x*(1+ 100) = 6éx

25 15x
New number of Chemistry student = 3x*(1+ 100)= 4

10 11x
New number of Zoology student = 5x * (I + 100) = 2

15 11
Required ratiois 6 : 4 : 2

Multiplying overall by 4, answer is 24:15:22

33. Aman earns Rs 20 on the first day and spends Rs 15 on the next day. He again
earns Rs 20 on the third day and spends Rs 15 on the fourth day. If he continues to save like
this, how soon will he have Rs 60 in hand?

A 0N 17t pasy
B ON 27t pay
C 0N 24th pay

D O 30™ pay

Answer: /8

Explanation:
For every cycle of 2 days his overall earnings will be 5 Rs,

In 8 cycles i.e in 16 days he will earn 40 Rs, on | 7th day he will earn 20 more rupees and his overall savings
will reach to 60 Rs.

34. A game of football with 11 players lasts for exactly 90 minutes. There are four substitutes that
alternate equally. If each player plays for the same length of time, what is the duration?

A 22.5 MINS

B IS MINS

C (66 MNS

D NONE OF THE ABOWVE

Answer: /8

Explanation:
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Let each alternate player plays for x minutes

Thus 4x = 90

x = 22.5 minutes

35. A, B and C start a business each investing Rs 20000. After 5 months A withdrew Rs 5000, B Rs 4000
and C invested Rs 6000 more. At the end of the year a total profit of Rs 69900 was recorded. What is
the share of B?

A [Ns 20500
B [is2il200
C [Rs 28200
D [is 27300

Answer:

Explanation:
The profit fraction will be divided based on the amount spent and the investment time

For A, the investment = (20,000%5) +(15,000*7) = 205,000
For B, the investment = (20,000*5) + ( 16,000*7) = 212,000
For C, the investment = (20,000*5) + ( 26,000*%7) = 282,000

212000 212
Profit share of B = 205000+212000+282000 = 699
212

Share of B= 69900 x 699 =21200

36. The current birth rate per thousand is 32, whereas corresponding death rate is 11 per thousand. The
growth rate in terms of population increase in per cent is given by

A 0.021%
B 0.2l %
C 2%

D 2il%

Answer: C

Explanation:
For 1000 people, 32 person are born and || die.

Overall increase in population = 32-11 =21
21
%increase in popoulation = 1000 x 100% = 2.1%
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37. A difference between two numbers is 1365, when larger number is divided by the
smaller one, the quotient is 6 and the remainder is 15. What is the smaller number?

A 240
B 360
c 20
D 2895

Answer: G
Explanation:
Let the smaller number be denoted by X
The bigger number can be 6x + 15
Bigger number - smaller number = (6X + 15) - (X)
5x + 15 = 1365
5x = 1350

X =270

38. Two vertical poles are 40 metres apart and the height of one is double that of the other. From the
middle point of the line joining their feet, an observer finds the angular elevations of their tops to be
complementary. Find their heights.

A 4 v, 28.28 M
B I2M,22M
Cc 2J2 m, 24.24 M

D NONEOF THESE,

Answer: /8

Explanation:
Let AB and CD be the vertical poles such that the height of one is double to that of the other
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D
0
A
2h
h
8 90- 6
B 20 C 20 E

It is given that the angles of elevation are complimentary. Thus let us assume the angle made by smaller

tower be O . Then angle made by DE is 90 — 0

h
In A ABC, tan (0 ) = 20
20
In A CDE, tan (0) = 2h
h 20
Equating the values oftan (9) we get, 20 = 2h

hz = 200=>h=14.14
Hence height of poles are 14.14 and 28.28

39. Meera and Sameera start moving from the same point. Meera goes 4 kms west followed by 3 kms
north. Sammera goes 4 kms east and then a right turn and keeps going for 3 kms. What is the
shortest distance between the two of them?

A 10 xvs
B 12xws
C RS

D 4 rus

Answer: /&

Explanation:
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Meera’s finish

3km ....\.--...H______\Staning pt.

.

3km

Sameera’s finish

Using pythagoras theorem, we can clearly see from above that the shortest distance between Sameera and

Meera is |0km.

40. A boy was asked to multiply a certain number by 53. He multiplied it by 35 and got
his answer less than the correct one by 1206. Find number to be multiplied.

A B8
B 67
c 77

D NoNE OF TEE ABOWE.
Answer:

Explanation:

Let number to be multiplied be X
Number obtained by the boy = 35x
Actual answer = 53X

Difference obtained = 53x - 35x = 1206
18x = 1206

X =67

Instructions [41 - 42]

Study the sector wise sales of a group of companies for the financial year 2004 - 2005 and answer the

following questions.
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Services
10%

Chemicals (
5%

Consumer goods |
6%
Energy
8%
Sectors (Rs million) | % Share
Materials 164,430 210
Engineering 244830 312
Energy 62,990 80
Consumer Goods 47 880 6.1
Chemicals 35510 4.5
Communications and
information systems 148,160 189
Services 78,950 101
Total 782,750

41. This group of companies operates in multiple sectors. The holding company has decided to closely
monitor minimum number of sectors (not exceeding 5) contributing together a major part (at least
80%) of sales of the group. Identify the correct set of sectors

A ENGINEERING, SERVICES, CIS € CoNsUMER Goons
B ENGINEERING, SERVICES, CIS, ENERGY & CONSUMER G00DS.

C [ENGINEERING, MATERIAL, SERVICES AND CIS

D ENGCINEERING, MATEIRAL, CIS AND ENERGY

Answer: G
Explanation:
Engineering, Material, Services and CIS contributes around 81% of market share.

42. The average profit against the sales across the sectors is 10% while the profit margin of engineering
is 12% and CIS, 20%. What is the average profit across the remaining sectors?

A SE7%
B 7.5%
C 4.84%
D G8%

Answer: G

Explanation:
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Let us represent the sales revenue in terms of 'k'.
Total sales revenue = |00k

Sales revenue from Engineering = 3 1 k

Sales revenue from CIS = 19k

Remaining revenue from other sectors = 50k
Profit margin = Profit/Revenue

Let the profit margin of remaining sectors be x%.
So the eqn is:

10*100k = x*50k + 12*3 1k + 20*19k

after cancelling 'k’ from both sides, we get:

=> x = 4.94% (answer)

Instructions [43 - 46 ]

Each question given below is followed by three statements. Study the question and

the statements. Identify which option is necessary to answer the question.

43. The mean temperature of Monday to Wednesday was 37 degree Celsius and of Tuesday to Thursday

was 34 degree. What was the temperature on Thursday?
4

I. The temperature on Thursday was 5t that of Monday.
Il. The mean temperature of Monday and Thursday was 40.5 degree Celsius.
lll. The difference between the temperature on Monday and that on Thursday was 9 degree Celsius.

A oNLY
B [EITHER Il oR I
C EITHER I oR I @R I

D NONEOF TEESE
Answer:

Explanation:
Let the temperature on Monday, Tuesday, Wednesday and Thursday be a,b,c and d respectively

It is given that a+b+c = 3*37 = 11 |...(I)

and b+c+d = 3*34 = 102 ... (I)
4
Using statement (I) alonewe getd = 5 a. Which can be put in eqn (l), after which we can obtain the

value of d

Using statement (Il) alone we can add eqn(l) and eqn(ll) to get value of b+c and it can be used to get value

of d from eqn(ll)

Using statement (lll) alone we a-d = 9 which can be obtained by eqn(l) and (ll) and n hence no new

information is given. Statement (lll) is no sufficient to get the required answer.
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44. What will be the sum of two numbers?
I. Among the two numbers, the bigger number is greater than the smaller number by 6.
Il. 40 % of the smaller number is equal to 30 % of the bigger number.
lll. The ratio of half of the bigger number to one third of the smaller numberis 2: 1.

A TorIl
B Il oR I
Cc Ianpllior IAND Il

D /ANY TWGE 0F THE THREE

Answer: G

Explanation:
Case | :land ll

Let smaller number be x => bigger number = x+6
40 30
100 - X = 100 (x + 6)

=> x=18, Sum of bigger and smaller number = 42

Case 2 :land lll

Let smaller number be x => bigger number = x+6

(x+6) 3 2
2 x =1

On solving , x=18 . So sum = 42
Case 3 : 1l and Il
Only the ratio between bigger and smaller number can be found out

45. Atank is fitted with two taps A and b: In how much time will the tank be full if both the taps are
opened together?
I. Aiis 50% more efficient than B
Il. A alone takes 16 hours to fill the tank
lll. B alone takes 24 hours to fill the tank

A I AND I oNLS?
B /ANY TW0O ORPTIONS WWILL SUFFICE

C Il AN [l @NLS?

D il AN Il @NLS?
Answer:

Explanation:
Let total work to be done is 48 units

Case | : land Il
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A takes 16 hours => B=24 hours (since A is 50 percent more efficient than B)

A does 3 units/hour

B does 2 units/hour

Total per day work = 5 units

Total time taken = 48/5 hr

Case 2:landlll

B takes 24 hours => A = 16 hours (since A is 50 percent more efficient than B)
Together they take = 48/5 hours
Case 3 : 1l and Ill

B takes 24 hours

A takes |6 hours

Together they take = 48/5 hours

46. What s the principal sum?
I. The interest amount after 30 months is half the interest amount after 5 years.
Il. The sum amounts to Rs 750 in a five years at simple interest rate
lll. The rate of interest is 8% p.a.

A Il AN I oNLsyy
B [ AND Il ONLY

Cc Il AND [l @NLY?

D I aND Il @NLs?, oR I AND I oNLY?
Answer:

Explanation:
TR
A=P (1 + 100)
From 2 and 3, A=750, T=5 and R=8

P can be found out by substituting these values in the above equation.

Instructions [47 - 50]

Study the weekly data table and daily data graph for Toya Motors share prices at the National Stock
Exchange and answer the following questions. Toya Motors NSE Share prices for 3 months.



10/8/2005 22/8 31/8 12/9 21/9 29/9 10/10 20/10 31/10 10/11/2005

47. What is the average share price for 10/8/2005 to 12/9/2005?

A S27
B SOS
C 463
D 46l

Answer: C

Explanation:
483+475+467+513
Average of share price for 10/8 to 12/9 is 4 =483

48. Thedrop in the sales price during October 2005 is approximately

A 18%
B 10%
Cc 0%
D 9%

Answer:

Explanation:
Price at end of September (near to beginning of october)= 535

Price at the end October = 461

535-461
= 535 x 100%

=13.83%

10% is the closest option

49. How many times during this 3-month period the share price dropped in the graph?

A B
B 17

mycampus review.com
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c 1S

D 0
Answer:

Explanation:
From the given graph, we can observe that the share price dropped |7 times in the given period.

Hence, the answer is option B.

50. If you purchased 100 shares on 31/8/2005 and sold them on 10/10/2005 what will be your gains?

A B8 7700
B [is 8800
C s SEU0
D [is G600

Answer: /2

Explanation:
Money spent to buy 100 shares on 31/08 is 100%461 = 46,100

Money Recieved after selling 100 shares on 10/10 = 538%100 = 53,800
Overall profit = 53,800-46,100 = 7,700

Reasoning

Instructions [51 - 54]

Each question consists of a statement and/or a question followed by two statements | and Il. Identify an
option which provides sufficient data to answer the given question. Mark your answer as

A. if the data in statement | is sufficient and Il is not required;

B. if the data in statement Il is sufficient and | is not required;

C. if the data in both statements is necessary;

D. if the data in both statements is not sufficient to answer the question.

51. The total of the present ages of A, B, C and D is 96 years. What is B's present age?
I. The average age of A, B and D is 20 years.
Il. The average age of C and D is 25 years.

0 w
® @
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p D

Answer: D

Explanation:
Itis given that A+B+C+D =96

Using statement | alone A+B+D = 20*3 = 60
Thus we can say that C = 96-60 = 36

Using Statement Il alone

C+D =2%*25 =50 and hence A+B = 46

Using both statements | and Il

A+B =46 henceD = 14

We still can't find the value of B even after using both the statements

52. Deepak's marks in Hindi are 15 more than the average marks obtained by him in Hindi, Economics,
Sociology and Philosophy. What are his marks in Philosophy?
I. The total marks obtained by him in Hindi and Philosophy together is 12.
Il. The difference between the marks obtained by him in Sociology and Economics is 120.

A A
B
c G
D D

Answer: D

Explanation:

Let h,e,s and p represent the scores in Hindi, Economics, Sociology and Philosophy respectively.
h+e+s+p

h =15+ 4

From statement | alone we can see that even though we know h+p = |12 we can't determine exact value of
h

In statement Il we see that s-e = 120. Even if we input this in the original equation, we won't be able to

determine the exact value of h.

Using both statement together also does not give the definite value of h

53. What was the cost price of the suitcase purchased by Richard?
I. Richard got 20% concession on the labeled price.
Il. Richard sold the suitcase for Rs 2000 with 25% profit on the labeled price.

A A
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g B
c G
D D

Answer: G

Explanation:
Here we have to find the CP of a suitcase for Richard and M represent the labeled price

From Option | we see that he got discount of 20%on Marked Price. But since we do not know the MP it is

not possible to determine CP for Richard

Using only Option Il we see that we can we can obtain the profit in terms of marked price but not the cost

price.

When we use the option | and Il together we can determine CP and Profit in term of M and thus know the
CP for Richard

54. B alone can complete a work in 12 days. How many days will A, B and C together takes to complete
the work?
I. A and B together can complete the work in 3 days.
Il. B and C together can complete the work in 6 days.

A A
B
c G
D D

Answer: G
Explanation:
Assume total work to be done = 12 units. Then 1)B = | unit/day
Using only statement |, we get T)A+ 1)B = |2/3 = 4unit/day.
Thus only 1A can be calculated.

Similarly using statement I, we can calculate 7]C only.

Using both the statement together will give 7)A as well as JC and thus we will get the required answer.

Hence option C is correct

Instructions [55 - 60]

Study the following two tables of data on Agriculture Import and Export of India during 1998-2001 and

answer the following questions.



India's Export of Principal Agricultural Products
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Products 1998-1999 | % of Agri Export | 1999-2000| %o of Agri Export |2000-2001| % of Agri Export

1. Tea 538 8.9 412 7.3 433 72
2. Cofee 411 6.8 331 5.9 259 43
3. Cereals 1,495 2438 724 12.9 744 12.4
4. Tobacco 181 3 233 42 191 32
5. Spices 388 6.4 408 7.3 354 59
6. Cashew 387 6.4 567 10.1 411 6.8
7. Sesame and Niger Seeds 78 1.3 86 1.5 131 22
8. Guargum Meal 173 2.9 188 34 132 22
9. 0il Meals 462 7.7 378 6.7 448 7.5
10. Fruits and Vegitables 184 3 209 3.7 248 4.1
11. Processed Fruits and Vg 69 1.1 86 1.5 122 2
12. Meat & Meat Preparatiq 187 3.1 189 34 322 5.4
13. Marine Products 1,038 17.2 1,183 21.1 1,394 232
14. Others 446 7.4 614 11 815 13.6

Agri Exports 6,037 100 5608 100 6004 100
% of Agri to Total Exports 182 15.2 135

Total Exports 33.218 36.822 44,560
i India's Agricultural Imports

Commodity 1998-1999 | % of Agri Imports | 1999-2000 | % of Agri Imports |2000-2001 | % of Agri Imports
1. Cereal 288 9.9 222 7.8 19 1
2_Pulses 169 5.8 82 2.9 109 59
3. Milk and Cream 3 0.1 25 0.9 2 0.1
4. Cashew nuts 230 7.9 276 9.7 211 113
5. Nuts and Fruits 159 5.5 136 48 175 9.4
6. Sugar 264 9 256 9 7 0.4
7. Oil seeds 2 0.1 4 0.1 2 0.1
8. Vegoils 1,804 61.8 1.857 65 1334 71.8

Total Agri Imports 2,919 100 2.858 100 1,858 100

% of Agri to Total Imports 69 5.8 37

Total Imports 42389 49671 50.536

55. Which was the single largest contributor to the total agri exports in 2000-01? If the total agri exports
were valued at US $ 6 billion, what is its contribution in dollar terms?

CEREAL, US $ 1.4:S) BILLION
B IMARINE PRODUCTS, US $ .27 BILLION
C MARINE PRODUCTS, US 8 1.9 BILLION

CEREAL, US $ 1.03 BILLION

Answer: G

Explanation:
We see that the maximum value of export in 2000-01 belongs to Marine Products which is 1,394. and is
23.2% of total export.

Value of total export is US $ 6 billion.
Value of Marine Product will be 23.2% Of6 billion = uUs $ 1.39 billion

56. Which product has shown strong growth in exports during the 3-year period?



A  MBAT AND MEAT PREPARATIONS
FRUITS AND VECETABLES

C PROCESSED FRUITS AND VEGCETABLES

D NoNE

Answer: G

Explanation:
322-187

For Meat and Meat Preparation % increase= 187 x 100% =72%

248-184
For Fruits and Vegetables % increase= 184 x 100% =34%

122-69
For Processed Fruits and Vegetables % increase = 69 x 100% =768%

Hence Option C is correct

57. Which was the dominant import commodity in 2000 2001 after the vegetable oil?

A PULsSES
B CEREALS
C CasgEw NUTS

D NUTS AND FRUITS

Answer: ©

Explanation:
The Veg Oil value for the import is 1334.

Next, highest value is of Cashew Nuti.e. 21 |

58. From the import data about Sugar and Cereals it can be said that

A [INDIA BAS RAISED ITS DOMESTIC PRODUCTION OF THESE COMMODITIES.

B INDIA'S DEMAND FOR THESE COMMODITIES HAS GONE DOVIN.
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C [NDIA'S BAP IN PRODUCTION AND REQUIREMENT OF THESE COMMODITIES HAS GONE DOV,

D INDIA'S POPULATION CONSUMING THESE COMMODITIES HAS GONE DOV

Answer: G

Explanation:

For both the commodities we see the decline in the imports. This is possible if the production of these

commodities go up or the consumption goes down. But we cannot exactly say which of the following is

true. However it is evident that the gap has decreased. Hence Option C
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59. In some circles concerns were expressed that liberalization of imports, resulting from lifting of
quantitative restrictions on agri products, would lead to surge of agri imports affecting the Indian
farmers. What does the data depict?

A THE CONCERNS WERE JUSTIEFIED BECAUSE [INDIA CONTINUED TO IMPORT AGRI COMMODITIES.

THE CONCERNS WERE NOT JUSTIFIED BECAUSE THE VALUE OF ACRI IMPORTS IN AGCREGATE
B TERMS EAS COME DOVVN DURING THE PERIOD.

TEIE CONCERNS WERE JUSTIEFIED BECAUSE WECETABLE OIL AND PULSES FORMED A MAJOR
C COMPONENT OF THE IMPORTS.

THE CONCERNS WERE NOT JUSTIFIED BECAUSE THE TOTAL ESXPORTS IN AGCREGATE
D TERMS WERE BIGKER TEAN THE TOTAL IMPORTS IN AGCREGATE TERMS.

Answer:

Explanation:
Even though India was importing the commodities the overall import has been coming down. Hence option

A is not suitable.

Vegetable and Pulses form the majority of the import but it does not justify the statement as their import is

also decreasing. Hence C is invalid.
Option D is incorrect as total export is less than the import
Option B states the correct scenario as we can see that overall import are coming down

60. Over the period under study both percentages of the total agri-exports to the total exports and that
of the total agri-imports to the total imports show a downward trend. This indicates that

A [INDIA SHOULD NOT GET INTO EXXPORT OF AGRI PRODUCTS AND CONCENTRATE ON OTHER SECTORS.

B [NDIA SHOULD FIND WAYS AND MEANS OF INCREASING IMPORTS.

INDIA SEOULD RESTRICT ITS IMPORTS AND EXXPORTS ONILY TO /A LIMITED NUMBER OF
C COMMODITIES AND PRODUCTS.

D [NDIA SHOULD WORK ON STRATEGIES TO ENFANCE ESXPORTS AND REDUCE IMPORTS:

Answer: D

Explanation:
A country should always be looking to export as much as possible and import as less as possible. As the
import is decreasing, it is a positive sign. But the export is also decreasing, which is not a good sign.

Option A doesn't issue the address in hand and shifts focus.
Option B is totally the opposite.
Option C is partially right but limiting exports is not a good choice.

Option D is the solution to the problem.
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61. Nalini, her brother, her d

62. aughter and her son are tennis players and are playing game of doubles. Their positions on the
court are as follows: Nalini's brother is directly across the net from her daughter. Her son is
diagonally across the net from the worst player's sibling. The best player and the worst players
are on the same side of the net. Who is the best players?

A NALINT
B INALINI'S BROTEER

C NALINI'S DAUGHTER

D NONEOF THESE
Answer:

FORy DR § g

Based on the given statements, we have 2 cases:

Nalini's brother Nalini Malini’s brother Nalini's son
(Best) (Worst) (Best) (Worst)
NET NET
Nalini’s daughter | Nalini’s son Nalini’s daughter | Nalini
Casel Case 2
Case I:

If the worst player is Nalini, then her son is diagonally across the worst player's sibling i.e. her brother who

is the best as the best and the worst are on the same side of the net.

Case 2:

If the worst player is Nalini's son, then he is diagonally across the worst player's sibling which is his sister

and we get case 2. In this case also the best player is Nalini's brother.

63. In certain code language 'PROMOTION' is written as 'QSP89'. How will you write 'DEMOTION'?

A DESE
B [EFSE
c [EFg9
D EBE9
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Answer: G

Explanation:
We see that in word PROMOTION

P--->Q

R--->§

O--->P

MOTION --->89

Hence for DEMOTION the coding will be
D--->E

E--->F

MOTION--->89

EF89 is the correct answer

64. Study this matrix.
In this game there are two players. The first player can split the matrix vertically into two equal
halves and choose one half for further play. The next move on this half is by the other player who will
be split it only horizontally and choose one half for further play. The game will continue in this
manner. At the end, the last number left is the first player's gain. If you start the game, retain the
right half and, again right half after your opponent's move, then how should your opponent play to
minimize your gain?

el il Bl ]

5
4
9
2

| | e | S
Al | —

A RETAIN UPPER, RETAIN LOVI/ER
B RETAIN UPPER, RETAIN UPPER
C RETAIN LOWER, RETAIN UPPER

D RETAIN LOVWER, RETAIN LOWWIER
Answer:

Explanation:
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Min.
> ' > ' -M score
. 7 ~|4 7 .

? > After 2™ player After 15t player After 27 player
2 4 chooses upper chooses right chooses upper
half. half again. half again.

After 15t player
chooses right
half.

65. What is the next letter in the series?
UFQJMN

A I
B T
cC O
D M

Answer: /2

Explanation:
Let us write the order at which the letters come in the alphabetical series:

U-2I
F-6
Q-17
J-10
M- 13
N- 14

Here, alternate numbers are in A.P. with a common difference of 4.

Like, 21-17-13 and 6-10-14

to continue 21-17-13-9, next letter in the series will be 'l'.

66. Sonal, a mathematician defines a number as 'connected by 6' if it is divisible by 6, or if the sum of
digits is 6, or if 6 is one of the digits of the number.Other numbers are 'not connected by 6'. As per
the definition, the number of integers, from 1-60 (both inclusive) which are not connected with 6 is

A 18

B 43
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c 22
D 42
Answer:

Explanation:
For the number to be connected to 6 it has to be either

(i) Divisible by 6 which are : 6,12,18,24,30,36,42,48,54,60
(ii) Has 6 as their digits which are : 6,16,26,36,46,56,60
(i) Sum of digit has to be 6 which are: 6,15,24,33,42,51,60

Here we see that 6,24,36,42,60 are repeated. Overall there are 17 numbers that are connected to 6. Thus

60-17 = 43 is the required answer

67. Leena, Nitin, Arun and Mohan crossed a lake in a canoe that could hold only two persons. The Canoe
held two persons on each of three forward trips across the lake and one person on each of two
return trips. Leena was unable to paddle when someone else was in the canoe with her. Nitin was
unable to paddle when anyone else except Arun was in the canoe with him. Each person paddle
continuously for at least one trip. Who paddled twice?

A LEBNA
B NN
C MomaN
D /ARUN

Answer: D)
Explanation:
On the first trip, Nitin and Arun crossed the river with Nitin paddling the canoe.
Arun came back alone with the canoe.
On the second trip, Arun and Leena crossed the river, with Arun paddling.
Leena came back alone in the canoe.
On the last trip, Leena and Mohan crossed the river, with Mohan paddling.
Thus, Arun is the only one who paddled twice.

Hence, the answer is option D.

68. A, B, C,D,E, Fand G are the members of a family consisting of 4 adults and 3 children, two of whom,
F and G are girls, A and D are brothers and A is doctor. E is an engineer married to one of the
brothers and has two children. B is married to D and G is their child. Who is C?

A O'sFATEER
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B 'S FATHER

C [E's DAUGHTER

D /A'sSoN

Answer: D)

Explanation:
It is given that B is married to D and their child is G. Also, E is married to the one of the 2 brothers A and D.
As D is married to B, E is obviously married to A. That leaves us with F and C. It is also said that E has two

children. So, we can clearly infer that the 2 children are F and C.
Now, it is given that there are 3 children of whom only 2 are girls i.e. F and G. This means sex of C is male.
Cis A and E's son.

69. If every alternative letter of English Alphabet from B onwards (including B) is written in lower case
(small letters) and the remaining letters are capitalized, then: How will be the first month of the
second half of the year be written?

A RuCGuST
B JulLy
c JULy
D AusUST

Answer: ©

Explanation:
B onwards all alternate alphabets are written in lower case. The alphabets will look like this

AbCdEfGhIjKIMnOpQrStUvWxYz
First month of second-half of year is July which will be written as jUIY

70. Arich merchant had collected many gold coins. He did not want anybody to know about them. One
day, his wife asked, "How many gold coins do we have?" After pausing a moment he replied, "Well! If
| divide the coins into two unequal numbers, then 48 times the difference between the two numbers
equals the difference between the squares of the two numbers." The wife looked puzzled. Can you
help the merchant's wife by finding out how many gold coins the merchant has?

A SB6
B S3
c 43

D NONE OF THESE

Answer: D

Explanation:
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Let X and Y be the 2 unequal number in which he divides the gold such that x>y.

Total coins with him =X + Uy

As per the merchant

48(x-y) = x2 —-y?

B(x-y) =(x-y)x+y)

Either X + I = 48 or X = Y(rejected as it is given that they are unequal

hence merchant has 48 coins.

71. An enterprising businessman earns an income of Rs 1 on the first day of his business. On every
subsequent day, he earns an income which is just double of that made on the previous day. On the
10th day of business, his income is

A Rs 29
B E}g 210
c Rs 102
D RsiO

Answer: /8

Explanation:
For Day | his income was = Rs |

For Day 2 his income was = Rs [*¥2 =Rs. 2

For Day 3 his income was = Rs 2¥2 =Rs 4 =Rs | * 22
Similarly for nth day his income = Rs |* 271

Hence for 10th day his overall income is Rs 1*210-1 = 29

72. One night three naughty boys stole a basket full of apples from the garden, hid the loot and went to
sleep. Before retiring they did some quick counting and found that the fruits were less than a
hundred in number. During the night one boy awoke, counted the apples and found that he could
divide the aplples into three equal parts if he first took one for himself. He then took one apple, ate it

up and took 3 of the rest, hid them separately and went back to sleep. Shortly thereafter another boy

awoke, counted the apple and he again found that if he took one for himself the loot could be
1

divided in to three equal parts. He ate up one apple, bagged 3 of the remainder, hid them separately
and went back to sleep. The third boy also awoke after some time, did the same and went back to
sleep. In the morning when all woke up, and counted apples, they found that the remaining apples
again totaled | more than could be divided into three equal parts. How many apples did the boys
steal?

A 67
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79
C
D 65

E NONEOF THE ABOVE

Answer:

Explanation:
We'll approach this question by checking the options.

When the Ist boy woke up, he ate | and hid a third of the remaining, which leaves two-thirds.

So, if the initial no. of apples was N, after the actions of the Ist boy who woke up, now remaining apples

anpe:

Ce(v-1)

The 2nd boy repeats the process which makes the remaining no. of apples :

SE+(V=1)-1)

w

N;o 2t e23rd guy repeats the process as well. No. of apples remaining after the 3rd operation:
(UGG (N =1))=1)—1)

3733

Now this number has to be an integer and one less than this will be divisible by 3.

On putting the value of N as 67, 79 and 85 we can observe that only 79 satisfies the conditions.
Instructions [72 - 73]

"""""" ™ thacn favne dincenoae *”‘" ~n~ +hae hest illustrates the relationship among three given classes.

.-@@

73. Chilli, Salt, Vegetables

A A
B
c C
D D

Answer: G

Explanation:
Chili is also a vegetable. But salt is different from vegetables. Hence option C is correct

74. Student of Law, Students of Science, Men

A A
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B

c C

D D
Answer:

Explanation:
Students of Law and Student of Science will belong to different sections. But both of them will be men.
Hence option B

Instructions [74 - 78]

Study the following example and answer the questions.

An electronic device rearranges numbers step-by-step in a particular order according to a set of rules. The
device stops when the final result is obtained. In this case the device stops at Step V.

Input: 85 16 36 04 19 97 63 09

Step1-9785163604 196309

Step 11 -978563 163604 1909

Step Il - 978563 36 16 04 19 09

Step IV -9785633619 160409

StepV-9785633619 160904

75. Which of the following will be Step Il for the input below?
Input: 092516303218 17 06

A 32092516 3018 17 06
B 3230092561917 06
C 3230092161817 06

D 3230250916 1817 06
Answer: D)
Explanation:
We see that the device takes the biggest number which is not in descending order and places it at its place.
Input: 092516303218 1706
Step1:3209251630 181706
Step11:3230092516 18 17 06
Steplll:32302509 16 18 17 06
Hence Option D is correct

76. What is last step for the input below?
Input: 16 09 25 27 06 05

A STEPR I

B SyEp il
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C STER IV
D NONE OF TEHE ABOWE

Answer: /8

Explanation:

Since the device is sorting the number in descending order with biggest number and one at a time.
For Input 16 09 25 27 06 05

Step1:27 16 09 25 06 05

Step Il : 27 25 16 09 06 05

After which all the numbers are sorted. Hence 2 steps are needed

77. What is the output of Step V for the input below?
Input: 2508 3511 88 67 23

A 67 35 28 23 il 08
B 67 38 23 23 08 i
C 0Bill232s 3567

D NGONE OF THE ABOVE
Answer: /&
Explanation:
We see that the device takes the biggest number which is not in descending order and places it at its place.
For Input: 2508 35 || 88 67 23
Step1:88250835 116723
Step11:8867250835 |1 23
Step 111 : 8867352508 || 23
Step 1V :88 6735252308 11
StepV:8867352523 1108

78. Which one of the following would be last step for the input below?
Input: 03 31 4322 11 09

A STEPR I
B $STER I
STEPR IV

D NONE OF THE ABOVE
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Answer: D)

Explanation:
We see that in this, the number is sorted in the descending order in which every step the biggest number

which is not in the correct place picked and placed at its place.
Input: 03 3143221109

Step1=430331221109

Stepll=433103221109

Steplll=43312203 1109

StepIlV=4331 2211 0309

StepV=433122110903

Total 5 steps are needed.

79. If the output of Step IV is as given below, what was the input?
Step IV: 928671691519 06 63 58

A B69269 711318 06 63 B

B ISEEI9T206EE9E3SE 71

cC ISI906EE3 S8 66 9268 7i

D NONE OF THE ABOVE
Answer: [0

Explanation:
Since we know that in every step the series gets sorted in descending order. But it is not possible to know

that from which position the number was picked.

Instructions [79 - 80]

Read the following information carefully and then answer the questions given below:
P # Q means P is the father of Q

P + Q means P is the mother of Q

P - Q means P is the brother of Q

P * Q means P is the sister of Q

80. fA+B#C-D,thenAisD's

A SISTER

B GRANDEATEER
C QCRANDMOTEER
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D [FATHER

Answer: G

Explanation:
From the given relation, we can understand that A is the mother of B, who is the father of C, who is the
brother of D.

This makes A the grandmother of D.

81. Which of the following shows that A is the Aunt of E?

A A-B+CED*E
B A*B®HC*D-E
C A®EB*C+D=5E

D A+B-C*D%]E
Answer: 8

Explanation:
Let's go option by option:

I) Option | says A is the brother of B and this makes A a male. So he cannot be E's aunt.

2) Option 2 says A is the sister of B, who is the father of C, who is the sister of D, who is the brother of E.
This makes A aunt of E.

3)Option 3 says A is the father of B which makes him a male. Thus he cannot be the aunt of E.

4) Option 4 says A is the mother of B, is the brother of C, who is the sister of D, who is the father of E.

This makes A the grandmother of E.

General English

Instructions [81 - 87 ]

Read the following passage and answer (c) how climatic changes led to the founding of the earliest the 7

questions following the same.

As the climate in the Middle East changed beginning around 7000 B.C.E., conditions emerged that were
conducive to a more complex and advanced form Question of civilization in both Egypt and Mesopotamia.
The process began when the swampy valleys of the Nile in Egypt and of the Tigris and Euphrates Rivers in
Mesopotamia became driver, producing reverine lands that were both habitable and fertile, and attracting
settlers armed with the newly developed techniques of agriculture. This migration was further encouraged
by the gradual transformation of the once-hospitable grasslands of these regions into deserts. Human
population became increasingly concentrated into pockets of settlement scattered along the banks of the

great rivers.

These rivers profoundly shaped the way of life along their banks. In Mesopotamia, the management of

water in conditions of unpredictable drought, flood and storm became the central economic and social
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challenge. Villagers began early to build simple earthworks, dikes, canals, and ditches to control the waters

and reduce the opposing dangers of drought during the dry season (usually the spring) and flooding at

harvest time.

Such efforts required a degree of cooperation among large numbers of people that had not previously
existed. The individual village, containing only a dozen or so houses and families, was economically
vulnerable; but when several villages, probably under the direction of a council of elders, learned to share
their human resources in the building of a coordinated network of water-control systems, the safety,
stability, and prosperity of all improved. In this new cooperation, the seeds of the great Mesopotamian

civilizations were being sown.

Technological and mathematical invention, too, were stimulated by life along rivers. Such devices as the
noria (a primitive waterwheel) and the Archimedean screw (a device for raising water from the low
riverbanks to the high ground where it was needed), two forerunners of many more varied and complex
machines, were first developed here for use in irrigation systems. Similarly, the earliest methods of
measurement and computation and the first developments in geometry were stimulated by the need to
keep track of land holdings and boundaries in fields that were periodically inundated.

The rivers served as high roads of the earliest commerce. Traders used boats made of boundles of rushes
to transport grains, fruits, nuts, fibers, and textiles from one village to another, transforming the rivers into
the central spines of nascent commercial kingdoms. Trade expanded surprisingly widely; we have
evidence suggesting that, even before the establishment of the first Egyptian dynasty, goods were being

exchanged between villagers in Egypt and others as far away as lran.

Similar developments were occuring at much the same time along the great river valleys in other parts of
the world - for example, along the Indus in India and the Hwang Ho in China. The history of early civilization

has been shaped to a remarkable degree by the relation of humans and rivers.
82. This passage basically explains

THE SIMILARITIES AND DIFFERENCES AMONG SEVER/AL
ANCIENT SOCITIES

B TEIE INFLUENCE OF RIVER SETTLEMENTS ON TEHIE GROVWTE OF EARLY CIVILIZATIONS
C HOW CLIMATIC CHANGES LED TO THE FOUNDING OF THE EARLIEST RECORDED CITIES

D TIE DEVELORPMENT OF PRIMITIVE TECENOLOGIES IN THE ANCIENT IMIDDLE EAST
Answer:

Explanation:

In the first paragraph, the author says, "Human population became increasingly concentrated into pockets
of settlement scattered along the banks of the great rivers.", and the last line of the passage, "The history
of early civilization has been shaped to a remarkable degree by the relation of humans and rivers.".

These lines clearly indicate that the main topic of discussion in the passage is how river settlements lead
to the establishment of early civilizations.

Hence, the answer is option B.
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83. According to the passage, the increasing aridity of formally fertile grasslands in
Egypt and Mesopotamia caused the settlement patterns in those regions to become.

A LESS NOMADIC
B LESS STABLE
C MORE CONCENTRATED

D MORE SPARSE
Answer:

Explanation:
"In Mesopotamia, the management of water in conditions of unpredictable drought, flood and storm
became the central economic and social challenge."

"but when several villages, probably under the direction of a council of elders, learned to share their human
resources in the building of a coordinated network of water-control systems, the safety, stability, and
prosperity of all improved."

Thus, life became more stable after they learned to manage water resources. Thus, earlier their life was
less stable.

Hence, the answer is option B.

84. The passage implies that the earliest geometry was practiced primarily by

A FRARM VWORKERS
B LAND OVWWNERS
C TRADERS AND MERCEANTS

D MECHRANICAL KARTISANS
Answer:

Explanation:

The passage says, "the earliest methods of measurement and computation and the first developments in
geometry were stimulated by the need to keep track of land holdings and boundaries in fields that were
periodically inundated."

Thus, the earliest forms of geometry were practised by land owners.
Hence, the answer is option B.

85. The passage indicates that the social effects of the unpredictability of water
supplies in Mesopotamia was

A TO ENCOURAGE COORPERATION IN TEE CREATION OF WATER MANAGEMENT SYSTEMS
B TODRIVE FARMERS TO SETTLE IN FERTILE CRASSLANDS FAR FROM THE UNCONTROLLABLE RIVERS
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TO CAUSE WAREARE OVER WATER RIGETS AMONG RIVAL
C VILLAGES

D NONE OF TEE ABOVE.

Answer: /8

Explanation:

In the third paragraph, the author says, " but when several villages, probably under the direction of a council
of elders, learned to share their human resources in the building of a coordinated network of water-control
systems, the safety, stability, and prosperity of all improved. In this new cooperation, the seeds of the great
Mesopotamian civilizations were being sown."

Hence, the answer is option A.

86. The passage refers to the earliest trade routes in the Middle East

BETVWEEN WARIOUS CENTR/ALLY RULED
COMMERCIAL KINCDOMS

B BETWEEN LINKED VILLAGES IN EGYRT WITE OTHERS IN IRAN

C BETWEEN CONNECTED WILLAGES TEAT VWERE SCATTERED ALONG TEHE BANKS OF TEE SAME RIVER.

D BETWIEEN TEHE INGRABITANTS OF SMAILIL WILLAGES AND TEE DYNASTIC KINGS VWEO RUILED TERIEM.
Answer:

Explanation:

The last line of the fifth paragraph says, "Trade expanded surprisingly widely; we have evidence suggesting
that, even before the establishment of the first Egyptian dynasty, goods were being exchanged between
villagers in Egypt and others as far away as Iran."

Hence, the answer is option B.

87. The passage implies that the emergence of complex civilizations in the Middle
East was dependent upon the previous development of

A [ SYSTEM OF CENTRALIZED COWVERNMENT

SYMIBOLIC SYSTEMS FOR VWRITING AND
B MATHEMATICAL COMPUTATION

C A METEOD OF STORING AND TRANSEFERRING V/EALTE

D BASIC TECENIGUES OF ACRICULTURE

Answer: D

Explanation:
In the first paragraph, the author says, "The process began when the swampy valleys of the Nile in Egypt
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and of the Tigris and Euphrates Rivers in Mesopotamia became driver, producing riverine lands that were
both habitable and fertile, and attracting settlers armed with the newly developed techniques of
agriculture."

Hence, the answer is option D.

88. By referring to emerging civilizations in India and China the author wants to
emphasize the

A RELATIVELY ADVANGCED POSITION ENJOYED BY THE MIDDLE [EAST IN COMPARISON TG OTEER
REGIONS

B RAPIDITY WITE WEICE SOCIAL SYSTEMS DEVELOPED IN THIE IMIDDLE EAST SPREAD TG OTHER
PLACES

C CRUCIAL ROLE PLAYED BY RIVERS IN THIE DEVELOPMENT OF BUMAN CULTURES AROUND TEIE VWORILD

D [MPORTANCE OF WATER TRANSPORTATION IN THE CROW/TE OF EARLY TR/ADE

Answer: ©

Explanation:

The last paragraph says, "Similar developments were occuring at much the same time along the great river
valleys in other parts of the world - for example, along the Indus in India and the Hwang Ho in China. The
history of early civilization has been shaped to a remarkable degree by the relation of humans and rivers."

Hence, the answer is option C.

89. Askance means:

A SlDE GLANCE

B QUIZZICAL EXPRESSION

C REQUEST
CURIOU
D SLOOK

Answer: [

Explanation:
"Askance" means with an attitude or look of suspicion.

Hence, the answer is option D.

90. Virtuoso means

A SKILLED PERFORMER

B AMATEUR

C GooD PERSON
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D PROFESSION/AL

Answer: /2

Explanation:
"Virtuoso" refers to a person highly skilled in music or another artistic pursuit.

Hence, the answer is option A.

91. Nuance: Subtle

A PUN: SERCASTIC
B [5IE: RIONEST
C INeUIRY: DISCREET

D RINT: INDIRECT

Answer: /2

Explanation:
'Nuance" refers to a subtle difference.

A. a pun is 2 humorous use of a word [in meaning or sound], while sarcasm is the use of irony for humour.
B. a fib is a lie, whereas honesty means to be truthful.

C. Inquiry can be discreet or indiscreet

D. A hint can be direct or indirect.

Only option A comes close to the relation given in the question.

Hence, the answer is option A.

92. Arena: Conflict

A MIRAGE: REALITY
B FoRUM: DISCUSSION

C ASYLUM: PURSUIT

(W@ R
D :PPLECE

Answer:

Explanation:
An "Arena" is a structure where conflicts are decided.

Similarly, a "Forum" is where discussions are decided/held.

Hence, the answer is option B.
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93. Hierarchy: Ranked

A [ERQUATION: SOLVED
B CRITIQUE: BIASED
C CHRONOLOGY: SEQUENTIAL

D [NFINITY: [FISKED

Answer: G

Explanation:
"Hierarchy" is the order of ranking of entities.

Among the options, only "Chronology" [sequencing of entities] has the same relation.

Hence, the answer is option C.

Instructions [93 - 96 ]

Come with me to Kiebera: the largest shantytown in sub-Saharan Africa. More than 500,000 people live in
this vast illegal section of Nairobi, in mud huts on mud streets, with no fresh water or sanitation. Walk
down Kiebera's sodden pathways and you will see a great deal of hunger, poverty and disease. But you'll
also find health clinics, beauty salons, grocery stores, bars, restaurants, tailors, clothiers, churches, and

schools. In the midst of squalor and open sewage, business is booming.

Indeed, Kiebera's underground economy is so vibrant that it has produced its own squatter millionaire,
someone | have known for years. From his start a generation ago selling cigarettes and biscuits from the
window of his hut, this Kenyan (he asked to remain unnamed) has assembled an empire that includes
pharmacies, groceries, bars, beverage-distribution outlets, transportation and manufacturing firms, and
even real estate.

Families flock to Kiebera for the same reason country folk have always migrated to the city in search of
oppurtunity. In the city they find work but not a place to live. So they build illegally on land they don't own.
There are a billion squatters in the world today, almost one in six people on the planet. And their numbers
are on the rise. Current projections are that by 2030 there will be two billion squatters, and by 2050, three
billion, better than one in three people on the planet. In itself, it is nothing to worry about, for squatting has
long had a positive role in urban development. Many urban neighbourhoods in Europe and North America
began as squatter outposts. London and Paris boasted huge swaths of mud and?stick homes, even during
the glory years of the British and French monarchies. Squatters were a significant force in most U.S. cities
too. It would no doubt surprise residents paying millions for co-op apartments on Manhatten's Upper east
and West Sides to know that squatters occupied much of the turf under their buildings until the start of the
20th century ............... from an article by Robert Neuwirth.

94. The author argues that Kiebera becoming the shantytown is not unusual because

A  KIEBERA BAS MANY POOR PEOPLE VWEO EAVE COME TO EARN BUT EAWVE NO LAND TO LIVE ON.
B [RESEARCHERS HAVE PREDICTED THAT SEUATTERS WILL CONTINUE TO GROVY IN NUMBERS.

C SRUATTING HAS LONG FAD A POSITIVE ROLE IN URBAN DEVELOPMENT.

D JALL OF TEE ABOVE
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Answer: D)

Explanation:
"Families flock to Kiebera for the same reason country folk have always migrated to the city in search of

oppurtunity. In the city they find work but not a place to live. So they build illegally on land they don't

own." This refers to options A.

"There are a billion squatters in the world today, almost one in six people on the planet. And their numbers
are on the rise." This refers to option B.

"for squatting has long had a positive role in urban development". This refers to option C.
Thus, all three options are valid.

Hence, the answer is option D.

95. The prosperity of Keibera's underground economy is described by the author
through

A THE DESCRIPTION OF KIEBER/A
B THE DESCRIPTION OF KIS FRIENDS BUSINESSES.
C THE COMPARISON VWITH CO-0P APARTMENTS OF IMANKATTEN

D TTHERISTORY OF LONDON AND PARIS.
Answer:

Explanation:
In the second paragraph, the author says, " Indeed, Kiebera's underground economy is so vibrant that it has

produced its own squatter millionaire, someone | have known for years." The author then describes how

their friend started and how well he is doing now.
Hence, the answer is option B.

96. The author puts forward the thesis that

SEUATTERS WILL CONTINUE TO RISE IN NUMBERS IN THE COMING YEARS IRRESPECTIVE OF
WAZHIEYVHIER!

A TEEY ARE
FIROM PO0R COUNTIRIES UK NOT.

B THERE IS NOTEING WRONG IN SRUATTING ON TEHE LAND OF /A STRANGER
C LONDON € PARIS TOO ARE SEANTY TOVVNS.
D EVEN TODAY SEUATTERS LIVE UNDER THE IMANKATTEN € CO-0P APARTMENTS.

Answer: /8

Explanation:
The last paragraph of the passage disproves options B, C and D while saying that the number of squatters
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is rising.

Hence, the answer is option A.

97. What is the most appropriate title for this passage?

A KIEBERA-SQUATTERS PARADISE OF NAIROBI

B SEUATTERS OF TEE VA/ORLD
C SEUATTER CITIES

D FUTURE OF SQUATTERS

Answer: /8

Explanation:

In the passage, the author is mainly talking about the squatters in Kiebera. Thus, A is the most appropriate
title.

98. The managed to deceive the entire village.

A RENEG/ADE
B SYCOPHEANT
C CEARLATAN

D /HACTOR

Answer: G
Explanation:
A. Renegade: a person who deserts and betrays an organization
B. Sycophant: a person who acts obsequiously towards someone important in order to gain advantage.
C. Charlatan: a person falsely claiming to have special knowledge or skill.
D. Actor: a person whose profession is acting on the stage, in films, or on television.
Since the sentence talks about "deceiving a village", "Charlatan" is the best choice for the answer.
Hence, the answer is option C.

99. She ordered the taxi driver, Driver faster, "

A  WONT YOU
B WILL YOU

C YoUu MUuUsT

D eaAN'T YoOU



Answer: [
Explanation:
The sentence is in the past tense. Thus, options A and B can be ruled out.
Since it is a question tag, option C can also be ruled out.

Hence, the answer is option D.

100.Her written statements failed to be consistent what she had said eariler
A 0ON
B  WWITEH
C N
D TO

Answer:

Explanation:
The preposition used with "consistent” is always "with".

Hence, the answer is option B.

00. Choose the antonym nearest in meaning to the word.

Facetious
A SERIOUS
B UNEASY

C PLEASKANT

D CROSS

Answer: /2

Explanation:
"Facetious" means "treating serious issues with deliberately inappropriate humour”

Among the options, A is the opposite in the meaning of the given word.
Hence, the answer is option A.

0l. Which one of the following alternatives is spelt correctly?

A  EXTHCY

B ECSTHASY

ECSTHACY

mycampus review.com
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D EXRTASY

Answer:
Explanation:
The correct spelling of the word is "ecstasy".
Hence, the answer is option B.

02. Choose the correct alternative that best explains the following idiom.
Writing on the wall.

A CGRAFFITI

B OBVIOUS TRUTIE

C FOREBODING

D PREDICTION
Answer:

Explanation:
The idiom "writing on the wall" means "there are clear signs of something happening".

Thus, the answer is option B.

03. Although many of the members were about the impending deal, others were about the

benefits it would bring.

A EUPEORIGC......ccce.... CONFIDENT
B OPTIMISTIC ................. DUBICUS
gm@]}}v ooooooooooooooo

C  SKEPTICAL

D CONFUSED................. PILIE/ASIED
Answer:

Explanation:
The use of "Although" indicates that the blanks will have terms contradictory to each other.
Thus, among the options, only B is the choice for the answer.

04. Select the lettered pair that best expresses a relationship similar to that expressed by the original
pair.
BROOK : RIVER

WIEIN - ARTERY

B pATH : BIGEVVAS
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C WARD 2 ALLEY
D PEN:PHAPER

Answer:
Explanation:
"Brook" refers to a small stream, i.e., a smaller version of a river.
Among the options, only "path : highway" represents a similar relationship.
Hence, the answer is option B.

05. 'But for cancer i would not have given up smoking'. '‘But' in the sentence is

A AN ADVERIS

B /A PREPOSITION
C AN ADJECTIVE
D /A WERB

Answer:

Explanation:
In the given sentence, "but" is used as a preposition as it shows the relationship between cancer and

smoking.

Adverbs and Adjectives are used to indicate the qualities of verbs and nouns. A verb is used to indicate

action.

Hence, the answer is option B.

06. Here is my list oranges, potatoes, garbage bags and a tooth brush. After the word 'list' identify which
one of the following is required.

A COLON

B QUOTATION MARKS

C SEMICOLON

D NONE OF TEIESE

Answer: /8

Explanation:
A "colon" is used to list items.

Hence, the answer is option A.
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07. ldentify the grammatical error in the sentence below by choosing one of the alternatives.

My main reason for learning pharmacy was that my brother was one.

A DANGLING MODIFIER
B FAULTY PARALLELISM
C FAULTY REFERENGCE BY PRONOUN

D TEHE SENTENGCE IS CORRECT

Answer: G

Explanation:
The sentence should have been "My main reason for becoming a pharmacist was that my brother was

one.
Thus, the reference to the brother using the pronoun is a faulty one.
Hence, the answer is option C.

08. For the following pair a sentences choose the correct option
I. The team quickly took their positions on the field.
Il. The team quickly took its position on the field.

A TEE FIRST SENTENCE IS VWRONG
B TEHE SECOND SENTENCE IS VWRONG
C BOTEH ARE CORRECT

D BOTH ARE WRONG

Answer: /&
Explanation:
A team is a singular entity. Thus, the plural usage "positions" is wrong in statement |.
Statement 2 is grammatically correct.
Hence, the answer is option A.
09. Choose the erroneous underlined segment or option 'd' if no error.

He carried his clothes (a) in a black heavy (b) steel trunk (c)
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D D
Answer:

Explanation:
Segment (b) should have been "heavy black".
Hence, the answer is option B.

10. Choose the erroneous underlined segment or option 'd' if no error.

The corpse (a) had been dead (b) for five days (c)

A A
B
C ©C
D D

Answer:

Explanation:
A "corpse" refers to a dead body. Thus, saying that it "had been dead" indicates that it was alive at some

point, which is incorrect. A corpse is always dead.
Thus, the erroneous section is (b)

Hence, the answer is option B.

I 1. Identify the odd one.

A [HASHORA VWAS ONE OF THE GREATEST KINGS.

B ASHORA WAS GREATER THAN MANY OTHER KINGS.
C [ASHORRA VWAS THE CREATEST KING:

D VERY FEW KINGS WERE AS BREAT AS ASKHORA.

Answer: C

Explanation:
In options A, B and D, Ashoka is being compared to other kings and is called one of the greats.

Whereas, in option C, Ashoka is called the "greatest" king. Thus, there is no comparison.

Hence, the answer is option C.

12. Identify the incorrect one.

A THE COACH TOBETHER VWITH EIS TEAM WAS PRAISED.
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B MIANY A BOY IS TEMPTED TO SING.

C TEHE KING VWITE ALL KIS SONS WERE IMPRISONED.

D NEITHER JAMES NOR FIS LAV YERS VWERE THERE.

Answer: G
Explanation:
Since the king is singular, "was" should have been used instead of "were".
Hence, the answer is option C.
I3. Identify the sentence that gives the same meaning as the following.

He said, "Yes, I'll come and see you."

A [GE AGCEPTED TEAT HIE VWILL COME AND SEE ME.
B IilE SAID THAT HE WILL COME AND SEE ME.

C [flE AGREED THAT BIE WILL COME AND SEE ME.

[HE SAID TEAT HE WOULD COME AND
D SEE ME.

Answer: I
Explanation:
The indirect speech of the given sentence is "He said that he would come and see me."
The auxiliary verb should be in the past tense in an indirect speech.

Hence, the answer is option D.

Instructions [114-117]

Choose one option to fill in the blanks in the following sentences.

(@) a

(b) an
(c) the
(d) none

4. 1 had met him year ago

A A

C C©C

D D

Answer: /8

Explanation:
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Here, the article used will be "a", as "an" is used only in front of words starting with vowel sounds.

Hence, the answer is option A.

I5. Canyou see moon?
A i
B
C G
D D

Answer: G

Explanation:
Since there is only one moon, the correct article will be "the".

Hence, the answer is option C.

16. Heis honourable man.
A A
B
C ©
D D

Answer:

Explanation:
Since "honourable" starts with a vowel sound, the article used will be "an".

Hence, the answer is option B.

17. people with little patience rarely succeed.
A A
B
C ©
D D

Answer: D

Explanation:
Since "people” is a collective noun, articles cannot be used with it.



mycampus review.com

Hence, the answer is option D.

8. Choose the correct arrangement of the following jumbled sentence of a paragraph to make it
coherent.
The first sentence is:
Barely a year had elapsed before the Pritzker clan began to squabble.
L. Under the plan he has until 2011 to distribute the assets among the heirs.
M. The family was no longer cohesive whole, they wrote and therefore the business needed the kind
of transparency a public corporation might have.
N. A year later the family agreed on a giverning structure for the Pritzker Organisation, requiring
Tom to open the books, hold annual meetings of family share holders and issue regular financial
reports.
0. In summer 2000, Tom's two brother and a handful of his cousins sent a letter asking him to
restructure the holdings.

A NMOL
B IMILON
C OMNL
D ONMIL

Answer: [

Explanation:
Statement O will start the discussion as it begins with "In the summer of 2000" which continues from

"Barely a year".
N will follow O as the "A year later" continues the idea in N.

M will follow N as it mentions how the family was no longer a whole as a result of the brothers writing the

letter.

L will finish the discussion as it mentions what the new plan was going to do.
Thus, the required sequence is O-N-M-L.

The answer is option D.

19. "Time to bust some myths about the EPF Organisation, India's only social security fund manager for
non-government workers, though what follows is not published on a regular basis. Active
membership is just about 5 percent, and only 17 per cent of the members account for 84 percent of
the balances. That's only Rs. 20000 each ! less than 7percent have a deposit amount more than 5
lacs!"

Choose the statement closest to the idea expressed in this paragraph

A [EPF I8 AN EFFICIENTLY MANAGED ORGANISATION ABOUT VVEICE NO ONE KNOVWS CORRECTLY .

IERERISHAIN
INEFFICIENT
ORGANISATION.
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Cc EPE ORGANISATION TAKES CARE 0F FUTURE FUND REQUIREMENTS 0F INVESTORS ADEQUATELY:

D [EPF ORGANISATIOIN DOES NOT HAVE ENOUGH FUNDS TO TAKE CARE OF SECURE FUTURE.
Answer:

Explanation:
The paragraph starts by talking about busting some myths about the EPFO. The passage then goes on to

explain how there is an imbalance wrt the percentage of members and funds.
Thus, the answer is not going to be a positive statement. Hence, A and C can be ruled out.

The passage does not talk about the EPFO not being able to take care of the future. It just talks about the

low number of active users and funds per user. Thus, D can be ruled out.

Option B is the best choice for the answer.

20. "Two recent World bank studies on India' rapidly depleting water resources have caused quite a stir.
More interesting is how water seems to have become the new focus area for Bank assistance: at $
3.2 billion in 2005 08 from a mere $ 700 million in 1999 04. Within water again, more money is going
to rural water, large hydropower projects, and water resource management in poor states."
Choose the statement that summarises the above paragraph best.

A [NDIA'S WATER RESOURCES ARE DEPLETING

B e TWo VWORLD BANK STUDIES ON [INDIA BAVE CAUSED & STIR.

TEE VWoRLD BANR ASSISTANGE T0 INDI/A FOR DEVELORING WATER RESOURCES KAS
C INCREASED MORE TE/AN 4 TIMES FoR 2009 08 £AS COMPARED TO TEE PRIOR PERIOD

POORER STATES OF INDIA REQUIRE VWATER RESOURCE MANAGEMENT PROJECTS SUCH AS RURAL
D WWATER, LARGE BYDROPOVWER PROJECTS.

Answer: D

Explanation:
All four options are true, but we have to select the most appropriate one among the four.

Options A and B start the discussion but are not the main point of discussion in the passage.

The main topic of discussion is how the funds from the World bank are being distributed to meet the needs

of rural areas of the country.

Hence, among the options, D is the most suitable choice.

General Awareness

21. The International Date Line is located

A ONE THE EQUATOR

B /ALONG 0 DEGREE ILONGITUDE
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Cc ALoNG S0 DECREE ILONGITUDE

D /AT GrEENWICE IN UK

Answer: G

22. The Roman Magsaysay award is named after the former President of ?

A TEAILAND
B PHILIPRINES
C INDONESIA

D NoNE QF TEESE
Answer:

23. What level of noise is considered permissible in human habitats?

A UpTo SO DECIBELS
B ILESS TEAN 40 DECIBELS
C UpTe 30 DECIBELS

D ILESS TEAN 20 DECIBELS

Answer: /8

24. The Indian city which has a natural harbour and is also one of the largest Indian
ports is

A  MUMBAI

B IXKOLRATA RUALDIA

Cc Cocrmy

D WISHAREAPATNAM

Answer: /8

25. If saccharine, an artificial sweetener which is 70 times sweeter than sugar, is kept in the open,
which one of these insects will it attract first

A ANTS
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B BEES

C [HOUSE-FLIES

D NONE OF THE ABOVE

Answer: D)

26. When a Pepsi bottle is opened, the gas fizzes out because it obeys

A [FEsS's Lavw
B [RENRY'S LAW
C Ko¥LARSE'S LAV

D NoNEoF THE ABOVE
Answer:

27. Television signals from transmission towers are restricted to a limited area because

A THE SIGBNALS BECOME VWEAR WITH DISTANCE
B THERE IS INTEFERENCE FIROM OTHER SIGN/ALS
C OF THE EARTE'S CURVATURE

D THE ATMOSPEERE /ABSORBE TEHE SIGNALS

Answer: ©

28. Who is the Author of Food, Nutrition and Poverty in India ?

A VKRV, REo
B .S, ELioT

C MARR TVVAIN

[BVIBLY?

D x
WS\ E

Answer: /8

29. Internet is controlled by

A  THE US.A
B TE UK
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Cc SWITZERLAND

D NONE OF THE ABOVE

Answer: D)

30. ldentify the incorrect statement.

/A TSUNAMI IS A SERIES OF VWAVES GENERATED WHEN WATER IN A LAKE OR THE SEA IS RAPIDLY
A DISPLACED
ON /4 MASSIVE SCHALIE:

B /A TSUNAMI IS AN AFTER-EFFECT OF AN EARTHOUAKE ON THE SEABED.

C /A TSUNAMI HAS SMALLER AMPLITUDE (VWAVE FEIGKHT) OFFSEORE AND A VERY LONG
W AWVELENGTE.

D NONE OF THE ABOVE.

Answer: [

31. The largest chunk of revenue for the Union government comes from
INCOME
TASK

B CENTRAL EXCISE

CoRPORATIO
C NUTAR

D CusToMs DUTY
Answer:

32. India test-fired three medium range surface-to-air missilies in Oct. 2005. Name the missile.

A TRISEUL
B NA&B
C DEANUSKH

D /ARASHE

Answer: D

33. How many calories are there in one litre of water

A 1000 cALORIES
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B 100 CALORIES

C 1 CALORIES

D NoNE

Answer: D)

34. The city closest to the epicenter of the devastating earthquake that hit Pakistan & India in October
2005 is

A SRINAGAR

B IBALAROT

C MUZAFFARABAD

D [SLAMABAD

Answer: C

35. The CDMA mobile services from BSNL is

A TARANG
B CELL ONE
Cc IoEA

D ORANGE

Answer: /8

36. The highest ranking country for 2005-06 in "Global Competitiveness Report" of the World Economic

forum is
A  FINLAND
B US8S.A

C SINGRPORE

D UK

Answer: C

37. Which two independent nations does the 17th Parallel separate

A NORTH AND SOUTE IKORER
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B NORTE AND SOUTE WIETNAM

C EnsT AND VWEST GERMANY

D MEXICO AND IPANAME
Answer:

38. Inthe " One by Six" rule of Income Tax, itis mandatory to file Ihncome Tax Returns if you posses

A TELEVISION
B GOLD
C CREDIT CARD

D PHASSPORT

Answer: C

39. The Kyoto Protocol pertains to

A BANNING THE HUNTING OF VWEALES
B REDUCING CREENFOUSE GAS EMISSIONS

C SECURING TEE RELEASE OF CIRCUS ANIMALS

DISALLOVING CIVILIAN AIRPORTS FOR
D MILITARY USE

Answer:
40. The riots spreading across France in 2005 were caused by

A AL QREDA
B PFRENCE NATIONALISTS
C RACIAL TENSIONS AMONG PARIS IMMIGRANTS

D PFRANCE'S POSITION IN [EUR0PEAN UNION

Answer: C

41. One of the UK's leading telecom company and sponsor of the England cricket team is

A BRITISE TELECOM

B /AIRTEL
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c ATET

D VopasoNE

Answer: D)

42. The price of any currency in the international market is determined by

A  TEE WoRLD BANK
B TEE DEMAND FOR GO0DS AND SERVICES PROVIDED BY TEE COUNTRY

C THE AMOUNT OF GOLD TEAT COUNTRY EAS IN RESERWE

THE ECONOMIC STABILITY OF
D TEAT COUNTRY

Answer: D

43. The "Whisle Blower Bill" was passed due to pressure created by the murder of

A  MADEUMITA SEURLA
B SATYENDRA DUBEY
C NAINA SEARMA

D NONEOF TEESE
Answer:

44. The alleged corruption scan of UN's $64 billion in Iraq disclosed in Nov, 2005 is related to

A  RAG WAR CRIMES
B IRAEI WIMID
C SADDAM RUSSEIN

D [FOOD-FOR-0IL PROGRAMMIE.

Answer: D
45. The Reserve Bank of India Governor is
A BIMAL JRIN

B . V. REnos?

C [DEEPAL PRAREKE



mycampus review.com
D NARESE CEANDRA
Answer:

46. Which oneiis listed in the first place among the largest global corporations in 2005 by the Fortune
magazine?

A ESTREN MOBILE

B TOYOTA MOTORS

C CENERAL MOTORS

D YWWALMART

Answer: G

47. Recently VAT was introduced in India. Choose the correct statement.

WAT mAS REPLACED SALE TASK IN ALL
A  STATES OF IINDIA

WAT IS CRARGED IN PLACE 0F SALES TASK ONLS? IN SOME
B STATES OF lINDIA.

WAT 18 CEARGED IN ADDITION TO SALES TASK IN ALL
C STATES OF |NDIA

WAT IS CHARGED IN ADDITION TO SALES TASK IN SOME
D STATES 0OF IINDIA.

Answer:

48. Parachute is brand of

A FINDUSTAN LEVE
B [PROCTOR © BAMBLE
C MARICO

D [DABUR

Answer: ©

49. Tamiflu is
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A A TYPE OF INFLUENZA ORIGINATING IN TAMIL NADU
/A CONTAGIOUS DISEASE OF ANIMALS
C /A FORM OF BIRDEFLY

D /AN EFFECTIVE MEDICINE FOR BIRDEFLY

Answer: D)

50. Earlier this year, President Bush revoked a trade embargo against a country that had been declared a
terrorist state earlier. This allows US companies to invest in this country for the first time since
1986. Which is the country ?

A EBYPT

B SUDAN

C NiIGERIA

D LIBYA

Answer: D



